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I. Choose the correct answer:- (1x8=8)

1. India is located in the Continent of

(a) Australia (b) Asia (c) Africa (d) Europe

2. The Thorn forests are found is in

(a) Rajasthan (b) Assam (c) Karnataka (d) Maharashtra

3. Our Constitution was accepted on:
(a) 26 June 1950 (b) 26 August 1950
(c) 26 January (d) 16 January 1950

4. The water body that is to the west of India:
(a) Indian Ocean (b) Arabian Sea (c) Bay of Bengal (d) Red Sea

5. The Bhakra Nangal dam has been built on the river:
(a) Satlaj (b) Mahanadi (c) Yamuna (d) Brahmaputra

6. The largest sea port in India is:

(a) Kolkata (b) Bangalore (c) Chandigarh (d) Mumbai
7. Sri Lanka lies to the of India
(a) South (b) North (c) East (d) West

8. The best mode of transport for sending relief supplies to flood affected area is

(a) Train (b) Aeroplane (c) Bus (d) Helicopter

II. Explain the terms:- (1x5=5)

(a) Sanctuary :-

(b) Natural Vegetation :-

(c) Metro:-

(d) Monarchy :-

(e) Alluvium :-




III. Anology:- (1x4=4)

1. Uttar Pradesh : Lucknow :: Bihar:

2. R. Brahmaputra : Tibet :: : Gangotri

3. West Bengal:Jute :: Assam:

4. Punjab : Baisakhi :: : Chhatt

IV. Answer the following:- (2x8=16)

1. What are the advantages of water transport?

2. How are satellites useful in Communicating?

3. Mention the various services offered by the Post Offices.

4. Most people prefer air transport. Explain?

5. Why are the Northern plains thickly populated?

6. Differentiate between an State and an Union Territory with an example each.

7. How is the Socialism different from Democracy.

8. What is a river basin? Name any two river basins.




V. Give reasons:- (2x5=10)

1. India is a land of vastly diverse landforms.

2. Rivers in the northern part of India have water throughout the year.

3. Roads are the most convenient mode of transport.

4. Tribes mostly depend on forest.

5. Televisions are the most popular means of mass communication.

VI. Name any two of the following:- (2x3=6)

1. Means of personal communication:

>

2. Major occupations of the people living in the Northern Plains.

>

3. Monuments of New Delhi.

>

VII. Answer the following in three or four sentences:- (3x3=9)

1. Smart phones are the popular means of communication. Describe




2. Forest are important to us. Explain.

3. List any three important fundamental duties as citizens of India.

VIII. Solve the puzzle:- (hint- National parks/ Sanctuary) (1x4=4)
1. Home for one-horned Rhinoceros - Assam
2. Tiger reserve - West Bengal

3. A Lake famous for Bird Sanctuary - Odisha.
4. National Park - Gujarat

IX. Answer the following:- (4 x 3= 12)
1. List any four fundamental Rights of the people of India

2. What is Communications? Discuss the advantages of the following.

(a) Telephone:-

(b) Newspaper :-

(c) Radio:-




3. What is meant by Directive Principles ? Mention any three guidelines.

X (A).1. Identify the Person

2. Name the movement.

3. What was the movement about?

(B). Complete the table

TYPES OF FOREST

FEATURE OF TREES

leaves remain green throughout the
year.

2. Coniferous Forest.

Shed their leaves in summer or winter
season.

XII. Circle the name of the trees hidden in the grid




XI. Locate the following on the map of India:-
1. A neighboring country of India. 2. The western coastal plains.
4. The State you live in.

(5)
3. The Great Indian Desert.
5. Capita of India.
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(Section - A) (1x8=
I. Choose the correct option .
1. The predecessor of the smallest 5 digit number is
(a) 999 (b) 9999 (c) 99 (d) 99999
2. The numbers that are added together are called as
(a) addends (b) sum (c) difference (d) product.
3. 42 + 7 means
(a) subtract 7 from 42 ,7 times  (b) subtract 7 from 42 ,5 times
(c) subtract 7 from 42 ,2 times  (d) subtract 7 from 42 ,6 times
4. The number whose prime factorizationis 2 X 2 X 5
(a) 2 (b) 4 (c) 20 (d) 10
5. In which of the number sentences can* be replaced by 9?
(a) 36 =+ * =5 (b) 27 + * =2
(c) 40 = * =4 (d) 54 + * -6
6. The sum of even numbers is always
(a) even (b) odd (c) can be even or odd (d)prime number
7) 100 more than 2,61,995 is
(a) 2,61,895 (b) 26,12,995  (c) 26,10,995 (d) 2,62,095
8. Which option represents the given picture.
©_ 0 e 0 e .0 e O
@ @ @ ( @
(a) 14+ 3 (b) 13+ 4 (c) 13+3 (d) 14 =5
(SECTION - B) 2X6=12

9. Compare and fill < ,> or = in the box

(a) 6789 —1107 5679

(b) 17 tens 810 units

10. Round the number 862 to its nearest tens place and the number 108 to its
7



nearest hundreds place and find their estimated sum.

11. Fill in the blank

(a) 10106 +100 = Q = R=
(b) O + 8469 =
(c) The two division facts of 16 X 7 = 112 are 112+7 = 16 and

12. Measure the given line segment and name it .

13. Choose the correct number from the box and complete.

(a) The factors of 6 are 56, 3,40 , 2
1 D - 6
(b) The missing multiples of 8 are 24, 32, , 48,

14. Arrange in columns and add
25,432 + 6,314 + 131

(SECTION - C) (3 X 10= 30)
15. (a) Give the expanded form in 2 ways for the number 1,20,496

(b) Underline the number that has the greater place value of 3.
13565 15385

16. (a) Round the numbers to the nearest thousands place
8529 5211

(b) Estimate the product 741 X 24 and also find the actual product
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17. Subtract the sum of 25,162 and 4,152 from 30,000.

18. Divide and check 3217 + 25

19. Observe the figure and identify a ray , line and a line segment in it

{L

20. The cost of a book is Rs 705. Find the cost of 29 such books.

21.(a) Write the multiples of 9 between 42 and 63

(b) Circle the numbers divisible by 3
372 901 1342 765 1529

(c) Is 13 a factor of 169. Give reason.

22. Fill in the factor tree.



23. Find the difference between the 13t multiple of 21 and 7 the multiple of 9.

24. Draw the place value chart in Indian system and represent the following
numbers in it,

(a) Any one 6 digit number hat has 0 in the ten thousands place.

(b) Any one 5 digit number that has 9 in the units place.

(Section - D) (4 X 10 =40)
25(a) Build the largest and smallest 6 digit number using the digits 4 ,0,3,9,7, 2

b) Write the number name of the predecessor of the number 26,940.

c) Give the compact form of 5 Th + 3 TTh + 2 T + 3H

26 (a) Solve 43,216 + 11,329 - 21,635

(b) Subtract 32,965 from 43,957

10



26. Identify the following figures

v

27. Fill in the blank.

a) 1234 X 17X 0 =

b) 721 X = 45X 721.
c)45X5)X25=(25X5)X

) X 321 =321000.

o,

28. Draw a circle of radius 3 cm. Mark any four parts of the circle.

29. A school sold 456 tickets for a ballet performance. If each ticket costs Rs 92 |
Calculate the amount collected.

30. Ramu has 1265 marbles .
(a) If he wants to pack 5 marbles in a box , how many boxes will he need?

11



b) But by mistake he packed 7 marbles in a box, how many boxes did he need .
where there any marbles left if so how many.

31. Find the product of
(a) 2341 X 148 (b) 943 X 508

32 Complete the pattern

75,634 85634

67252 67125

33. Divya went to the market with Rs 1000. She bought fruits for Rs 776 . she wants
to buy 1 Kg of sweets which costs Rs 815 .Does she have enough money ? If not
then calculate how much more money does she need?

12




34.Multiply the place values of all the 5 s in the number 4,56,753

kkhkkkkkkk

33. Divya went to the market with Rs 1000. She bought fruits for Rs 776 . she wants
to buy 1 Kg of sweets which costs Rs 815 .Does she have enough money ? If not
then calculate how much more money does she need?

34.Multiply the place values of all the 5 s in the number 4,56,753

13



SINDHI HIGH SCHOOL
SUMMATIVE ASSESSMENT -I 2015-16
SUBJECT:-L2 KANNADA

NAME: MARKS:-90

CLASS :- IV SEC: Roll no:- TIME:- 2 %2 hrs

DATE:- NO. OF SIDES: 08
ANRH— O

I A8 oogensw, L8, 39AS BE000 evs ok;

YVPTOON BIPVBWIFYT w000 WPITYT. GVPIV0N N0WT &), JeTwe WD)
FALE) em@.?cjocsmma2 TOF T DOTV DG WIYW0. WO T woaga?e ®Q, ey , e3T/OT
BT, 0P0 , FT0L LBwoeTey). @, @woé), WOV WO DolITY TRWOT Scawm&
ONTEOY e WE BNRWS WEW GVPR, BTOE WNFETE 2.0 B, TFDY

TP, VT, DTFOTT T05e0w) CweTmANTIR S JTe,T.

TP DoeT0N WOT TNIFDY, To¥ OO ©Pe0 Need TPy BIRBOTY,T 303,
ﬁdocl R e—u"wdes@ri@;mcz B0 TOPO 370wV T. 8WT [T #ééej @m?s—m’ . &0 [T
D5y 03TVFYTE IV D), WNTLEITEEY, BIF WFA, VPTOW DY, WNE)TIE07

TRET eIeT0d[0R TT0d [RBT0TOS, 3.

ev3 Bd:-

1. 0353030— 033030 TN Teo TRBOS T? (1)
2. 03308 030088 HR,OYDY, YVYTRORN FBIVBLVIITO? (1)
3. o5y e3eB030E0r T TT0N BINWOTITI? (2)
4. Doee TP T T, WPOIRTITYTY ? (2)

B.ss BTerensny, Lo, TYOT gz{lrﬁ@d’ v Bd;
BNHOTD ITFTO TRBO®D
JROVET e I
T0d enITO 20803
3o wIven o 30

P &ODVTNSTOT
TRl S0 o

DY TRET Jed BoTes
23@%) B0 T 30

w"é&ej— ﬁoc% FTOBO— e30CTBY
14



BT )8 wBY o

JOT 30T VET BOA

®OT SATTOD
BT, ey , TN , TE)
TRBI®D WOTHF O
®30¥ BILD T,

3D FTeFOOT.
Y000 003 ok:-
</ )
1. B8,87 03gycy WIY ©0? (1)
B0y TBRFT QeBITITO 0370TYT0 ? (1)

gon— 2
IT (A)ossesycemste 2,080 QRVoPEIDY, BdB T7-8 FFENETY, TA; (6)

I 39, 5o 2,388 a®meE wocd 3. 3378 wwmE 3P
B. 2003 S00Y IT000008 STROFHD, 3008I0: (4)

15



lev

l. emonmy, ST |ty (4)

go

NoeBNRTD), 2B BRBHI (4)

[ e, Todyeod &Y, (3)

sorfo werode ¥oos B3, (3)

28)0¢

FORFTY, oere 30308 (3)

3 3 VRO awm—; &eﬁﬁodwdo (4)

BB DT, LvBRTVTTDO(2)

odoe

S BN U

0T F@@d@m f\aodea’amd TP %:)dwooz

3, ©RT0DT, 28c8:

VTS I (4)
- Q

¥

PATALIo EX)

III (A) BeedP0s08 3000:- (%=X 4 = 2)

16



] 09 : ®ORS : : WD ¢ 0 _
2. [0S &,@_D%;p RALCIE 208 W8 FD
3. DDA : DI @ DRIRTWRCD) !

4. DY : 66’0@@_';)&3’ T B
J

(B) zoesodod 28000 - (Y2 X 4 = 2)
I ISPTPET DOV, B0

2. O BAX TNO. (1)

WOOFD FFOPDY, JEeYTD. o

3. DG, SERER), 3. (Y2X 4 = 2)

4. 83 TWOYDY DB 20TWB. (V2 x 2= 1)
() DB

(e3) @@?jomod ______________________

5. 88 TTOYDY TRRA 20TdWH. (V2 x 2= 1)
() &0 + ®»  ________
(e8) DO + @By -
6. B 0T; IO —THY, SYQ , BHBT 8 IWo:-. (1x1=1)
@ [~]
() ©8xF D wor3;00d VT oD . ( )
7. TORBBOEDY, THTSRA. (1x1=1)
(9) TTOERITT TOWTOR WONPRI .

8. VWIS 0TDD 230, (1x1=1)

(») Todv HOITEDY, zfoz%mﬁ QWO V.



Neyon—4
IV (A). @803z &0 T3y, @dd, 208, WenEsy, B00dd: (1x 14 =14)
1.53068 Doz eored BB dede
(o) %—o&rﬁ@;’do (e3) Boeledsy, ST
(1) 230z 3eF030T0 (88) BomBeanTTT
2. @8PF S Beed TesITY ToBweement T.
(») TR —TONTDY, (es) 78, —73PTT[DY,

(1) |B-J= 030w (88)833 -e58, 030y,

3. weF0d ABNFY VRO WFPDO 20F00 —— 28 &3).

(9)BR0BVNP  (&3) DRI ()DomNIPY (ée)mz%ﬁ@e’o

4. B, BB, D2 B0300T0E FOTATITYT —— e B3¢ 0308 .
(e9) T03023RTL (&) 00Ty (¥)IFPN (38) &’ozowq%
5. By 8000 TORT TUBE TOW® ToOE ).
(ea)eﬁoczgpé’)edo (e3) DFIe () 8¥ed0 (88) PV
6. TPP030 VAT BRAT.
() Tozmm0 (es) Soxm0 (¥) By (88) [O=OY

(2)8=39, () d3Swery (1) d==00 (s8) d=™nd
8. VTWDL D08, T8, TIRDT O FTIesy).

(2)Hd 38030 (es) Ade0S (1) zﬁ&ejﬁot% (88) e 30T
9. TReNES03 TRV ______ FOES 03008 T0.

() WIS (e3) WSO (1) VOO (88) =oDR)

10. ‘9% <3’ BTEIDY VBB T
(¥)BFTY dezooosd e, (es) o .v . 2DTTET

(¥) WoE ooriesToed (88) BRI O BOT/OTCH,

18



1. sTIE), ©8 93IF, TYOWBIS B, —— e

(e0)zor3 (&) B (1) ro2)ed 83)TReNS

12.°27908 3030, T8T0,8F TENAY D0 $oFBDY, WOTE— e
(9)TDe0esed (e3) Tooed

(9) @y’ Fevo (83) 20T F @

13. 39097 3y Feoos308 SOT AR ——— .

(@)5’8@3@@ () BB S (1) =0eHd (83) JSweo
14.25003% $&3c06 5,238y THB P00 — 2063 CoTRABY .

(9) Do [P (es) TozmOTRCES0I

(1) TFEBFICOHOR (88) V28 VYO3TPO0T
(B).o8@o-s30000 TV, ev3 O (2x5=10)

1. BReAS030 03eRn 8308, R ToPB TOBLETOW FO TP T?

2. PO0BT FERW, w5y Bed DBY,BY?

3. g‘a&)ﬁ@ﬁ DOBDRCRDVTIO) TT0e3600?

4. TRCL0OIND T emwodoos’_nmﬁd?

5. w8V, WTET, HOTVE TOWLTE 0330e3)T0?

19



V(A). Soeto-moen, so3ned evs od: (3x4=12)

1. T3ez330 0358y, 0BY, DTV edeTeEDATT?

2. 30T 3e8F030 TOTR), BB, Berd TOXTR0?

3. DoBY0e 03 0e80008) 2,000 NREIY 3?7 0B, 03003 FTIONEBTY, BIOWOD €&3?

4. 00F 2308 DDABY? &7 @5y 03/ec3AT QU0 DO ?

(B). 8 Rsw, 03wt —03500r, odower BePwRo? (2x3=6)

. “Dox0 BT OO T[TV BPTBD , OO0 BRBD

20



2. “uu8 9T, Boeed Tdww PR, .7

VI (A). moen- 0x0  o0FRv¥Y ev3,0d; (2x4=8)

. ‘Beened’ DI BT 80 TowoRHAIT Seord oDy, 03c0d:-?

VT WEONY TOTESNFED? 0B, wBReT BTT w3 IAW0.

2. D=3, an@,a

21



SINDHI HIGH SCHOOL
SUMMATIVE ASSESSMENT -1 (2015-16)
SUBJECT:-L2 HINDI

NAME MARKS:- 90
CLASS :-IV SEC: ROLL NO TIME:- 2 %2 hr
DATE :- NO. OF SIDES:- 09

1. FeffeT sufda Teizr & MR W I Tyl & WE S W () & F[7 &mse
(S)

T 7 ey ¥ wret aed Bu o | fUsel wwe ©WAt | aut g ol | e 3T 'R
TR PN ET® J | Weold- Wofd g {7 ® & 1 3 W § § 3@ o Hfdf g © & |
IEEH T T Tk 3G BT | PR 3T 3@ & HF W M GO o | 3T T A T-
T« T2t Famer—get Famer > qar @7 o1 | W@ 3 off g7 | A ge, ¢ 90 i er?”
Ig drefl, « H Ta oad § | 31 U SR o §¢ &L fedr ¢ | g7 U 9R 98 1@ aefr o, §
TR M ST 1 T 3 T 391 | AUl are? o T8 | SO gl gt @l gwsT gir
T T T AIOT S | ST G3T 2l WX T 3T 9t QT |

1. W M AR FI @A R & ?

(&) TTeNT & R (@) & & () |9g o A
2. TAT Sl &7 At 2
(&) € (@) At (M) 3@
3. 3@ ¥ &I A W@ AT 2
() STeTTdr (@) TTHATT (1) et
4, FTAUY A1 T HT AT AT 2
(&) @A (@) wfor (m &
5, AT MM EAMR AT I E & 2
(F) Tg® F (@) for@ = & (M ET® T |

2. o smfde wreaiar @ ugat RE g w3l & &t ST W () &1 Rz wmey

S5

IS 5 AT &t W )
37T 9T fohuT ou AT,
Ty @ed gt F A
3 fear zie & <@ & |
T I A <@ T T
e 42 SHah @[T |

SHH WAL GF -1

T o W IR AT

<o A aF ey °t J

STHT Tt 39 STHET

22



T S A °T Y ST

Qq fIeATh HoE UTaT |

QT FEH aF A7 el

STeUe AT SHT @raT,

TH©F G T

T SR AT fUgersT |
T Tt O SHT Wit
gt & AT gr S |

T dell A7 oifeh T8

7 w7 e

1. GIT T I &I 22
() feRaor (@) ga () =&

o [

. TRT JF 7 A9 TR HAT STHMET ?
() <&t (@) weoraT () T

(AN

3. |t ¥ gt faoitent a1 [Rehrer 2

(%) ¥ (@) =T (M) HeET
4. q@ @l fhE @mr ?
(&) ga ¥ @) TEd EETiIE

5. TF T TR 3T 2
(@) & 7 (@) <gdr = () ga

. Freferfae afda e & ugat RE g g3t & SE S W () & 3 e - (5)

U 7 I3 TheT Siget 99 Ja=n Hifeiete § fger o, aF eg—3e it
Eh-0¢ SIS &idi—Hal UeT 3[& i a7 | 37d gUIY I a¥ @l af T o | J@f aut
T WA & | 11 3T, 1910 I S & UTAE MRIE G| 919 st a9t off | T an
e ffesr TR ¥ 331 St ISl & foIw ofg+ ot Hifdard gash G ard &l hidl W
e g o | GUIT T 30T TRel o Tl Sl TwAd hdT 3 Gad 91 T T 3T<8T-
QT |07 § ST | 36T T st 7o 11 31 &l 99 9= 3UaTd T | Thel o Jerand
I & 39 TG & 3a9 T9Ifad g foh Sl 9d o Suare W |

g 9 ¥ 9= & wer 91— < e BT w0 &1 [ulan, e fUar ¥ et erfge em
EETSIRIE

1. N A3 Thet BT o 918 &7 Tg+T & har 2
(&) T OA—FW T o (@) F Ge gga & (M) 7 3t sus e o

2. FCT o TRIS RIS GEw ard st a3l &a off 2
() 11 3T 1910, (@) 15 31& 1910, (TT) 9 3M&E 1910

3. 3=e B Wi = [Rafar s o 2

23



(&) Tredt (@) TT® (T) G

4. Y & ITEATIURT T AT =T T 2
(&) T wfar (@) oe 91 () fae Wt

5. 99 go ¥ &9 3Ty T@r o ?
(@) 11 3T (@) 11 30T () 11 A

Iv. Fefefes ofda Teaier & R W ge g ueet & SWW () figme e - (5)
T H TH T gage off s ftaw s
QIR Tah &l Shidl O Taah! 3@ qarad |
Fah-esh AN 916 sl G- @rar o],
<@ W T AN A PgWe ¥ B0 e o |
Ts U 3T 39 99 §, Hel U 3,
M BT GI-HIHT a7 a1 ST- e
MR a8 FWe W oM & @& a1 o o,
TR WX 39 99N &t & oredt 3w oft |
Fed sl o ot GrE, @@T 9 & S0,
g Ul T WST Tied &l 9 folt 98 am |
1. T@T &I o ?
() FT (@) @i QRSIEET

o

. WET el &l o ?

o N\

(&) STA & T T & (@) A & dg () T I iAo A

3. Wl 1 9rdr o1 ?

(@) el & ot (@) 919 @t AR () Fiewdr & e
4. T TS 1 | i 30T 2
(&) TRl (@) Bl =T () 2

5. Gl Jic § g S 2

@ FTRA-GMT @ FTHRITH () T T [ A AT F

C LG

3. (@) FfofEE =g & T aeae fifae - (2)
led- 2@t - _
s.fere - ___ 4w - __

(@) = Ry T 7 & foi T ageant fafag - (2)

24



1.3 X 2. TRET x
3wl x _____________ 4. T& X
(%) Re T dywer & 7w ffee
1.9 - 2.87—
3.W - _ AT -

1.999d - 2.3 qIh —_ _
3\ HEA —__ 4. ®AAT -
(®) Fafofee ol & & t& 9 3R Tam 31eg siea e
T SEEIE
1. TEEEARTHS THR| ————mm——— mmmm
2. W T AR @ AT A @A AT | oo o
(37) 3% s forfee
1.9 + ael= _________ 2.FFF 4T =_________
3.0 + Mg AR+ T

(z7) Pl Tt @ Tga aw/ewe fife
°. §¢ Owid ol W ok ereAma & | ——— e

g mEE e ey o

33T ASh T AW fag@wT ar 1 o

¥, HEM o 3fd ¥ Tehat YBd foh M &7 2 |
(o) 3k Tl o T Toh-Teh I forf:

25

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)



9. TE@R W @Aarel = o _ W T S ST i

3. U AR SANT _T arefl = %o & egEr -

(2) T g e fifa - (2)
LR "\
ERE ¥.a9
(&) e 3ref USSR SMa® e fafey (2)
=<_ <
() Rwfefaw aeg & w9 9 fafey .- (2)
2. ST ITah! SERT T GAM el & |
R. T fohe @ar SIS # o T8 |
(@) Ru T =) St WerEdar ¥ @relt T 9RT - (2)
FF ow F T T wfm &
RGN ________ oSt of 33T |
LY mET 3 G AR |
3. ST QT |
8, RU I QT W@ T
(T) ST TS (2)
R 1 1 S
RWe-de-

26

(2)



() o & Hefaa geat fofew -

(3)

.TE famew g forfa ;-
?. e USH A R W & YA w7 2

(&) TETS! T T (@) TETST @l [T
R. G I o 2

(@) TS & HAT AT | (@) T S HAT o7 |
3. G el # «T3 ST @I o 2

(@) i (@) Tl

-]

¥, e U Hae Gl oFT i — A1 872

(@) 9Rd (@) urfhe™
W, et fhEer E 3FgaN Ugdr & ?
(&) Trar (@) gt

R. T& a1 # I fofe :-

?. WEWIST 3Tl Tl T gl T2

(1) TRTSl i arferahl

(M) T & A T |

(S)

(S)




3T At § S fIf@T - (any five ) (10)

1. 370 ¥ gg T &M A9 T G Ta1?

28



¥, fhe fhae et - (5)

Qug-g
I fret T A W u-& arRt @ egeee - (5)
. W-sgw R gy 3 gEw e




(S)

SINDHI HIGH SCHOOL
SUMMATIVE ASSESSMENT-1 (2015-16)
SUBIJECT: Il LANG, HINDI ANSWER-KEY

30



Qug- & (20)
1.9 2T 3.7 4@5.T
1.9 2% 3.7 4.9 5.&
1. % 2.% 37 4.9 5%
9 2.7 3.@ 4.9 5.7

QUg— g (35)
%, 99T 9afeid : (2)
. FHHl= At R = U 3 fieE= femdt v ger = 3¢
g. foiT agforT - (2)
. fUar=wr R T - 3 emedt - @ %, WIS - Wed
TT. mﬁmﬁw%@q (2)
. 9= ThrIql, HATHh R. SMHHN = {9, 3{ThlA
w.faenw 2 o 2)
. I R TAEFI 3 wWillx TEET ¥, TH3HE
3. HHER Fee felfEu - (2)
%, TW=Tdd R =N 3 =W ¥. €= LI
. 373 I 3[E R (2)
2. HHIUd= HHIL R, MYJUch =3T&Uch 3. HHEAT=HHET ¥. Oholhldlz ch|ra|(-||
B. T T AW e Biew foifQm: (2)
%. @UmA CF
. faEm &l
. 3 Hl Az QT (2)

. UN+ATT=UNATeN 2. THE+II=ghMaR 3. TH+3MHE=TH""g
R+ o=

1. 9/ 349d e (2)
2. AT RRET 3. I ¥, HI
(@) T I= A T e (2)

1. TWERH @©Adell= @R R, HeM & S ToiT= HeeTl
R, ST W TN I qre=Tetae ¥, Fad & aR=faAgan

Z. AN o9 a1t 31 fofe 2)
%. WTHI=3M&HY 2. =T 3. g= 9it %. a9==i"

3. e Fee fof@ (2)
2.  Thi= oM, W T 2. 9= &, g

<. gl &l kA o fofe 2)

. U @R U ITeh! et A o |

. U U ¥ W9 e war o |

T. el I 9T (2)
. FRRfE vAE v #

TT. ST TS 2)
Ikl R dw-diw

ol AT MY e T I

. Tl 3 g @reft ©I9 9RY (2)
. UM . HIEYW

aﬁa@rw@‘«rwﬁ%@q (3)

% HM=RM @l S R. AMh= AT TSN 3. He= §g ¥ T o7

31



Qug- T (25)
1. (5)
2. % & T ¥.FH L@
(5)

2.

1. HETIST eTahad SR g T o |

. O TTe%h 39 99 W Weud & fF T reaus ¥ faeige T ug |
3. 3R A & 3R ¥ 9 & T S ofmar |

¥, S ff oot & T W Aar O S5 U < & forg Ated Tt 2l o
. Tt TR ot i gtomar S T e |

: (10)
L ¥d W gg O & U9 9o T R F € U sreAesh et St @ |
. IWAR o 1Y HUlesh, Y Iy, Waremr , ez ol o 8 ®©d 2

3. AAEg & YW JET Gt HUST, 9 aed , Wasd Whid, §irad A ¢ |

¥, AEIME T I AR ool sl THT & foh Head § H& 3 WEeT T el 91T HeAT
o - qT Hel A A T 2

Y. gfe Somar F=df i Aeg T Hid df 9 9= 9 99T il Sdidd ©d 3iT SHHT @ 30T &r
ST |

§. W TR ST o Hifdh el HeMl o 3fd # TR-aR gad-« i &= gar 1
4. (5)

2. HI 7 dTT & Fel |

R. A T g | e |

3. Tohedl 919 ¥ 9¢ =T § el |

¥, ool o WA & el |

Y. ool 3 3O 3T & el |

LGl (10)
%. U= MUY 9t ¥ fordw (5)
. T U IE T gl H o | (5)

D0 W o

32



SINDHI HIGH SCHOOL
SUMMATIVE ASSESSMENT -1 (2015-16)
SUBJECT:- COMPUTER SCIENCE
NAME MARKS:- 30

CLASS :-IV SEC: ROLL NO TIME:- 1 hr

DATE :- NO. OF SIDES:- 02

Fill in the blanks: 2.5M

. Computer controlled cameras help to diagnose diseases.

. The gallery helps you change the wallpaper and the screen saver.

. A series of pictures that tell a story is called a

. The command is used to move the turtle without drawing a line.

a b W N = ™

. The output that you see on monitor is called

| |
L]

. Write TRUE or FALSE for the following questions. 2.5M

. A light pen is an output device.

. Animation is the technique of movement.

. You can preview the selected screen saver.

Stamps cannot be flipped or resized.

PC is the command to change the canvas color in KTurtle.

III. Find the following icons and name them. 5M

IV. Match the following. 2 M
1. Sliding Sale A. 200,200
2. Desktop B. Input device
3. CS C .Stamp
4. Scanner D. Taskbar

33



V. Read the following words and drop them in to the corresponding category
(Given in 4 boxes) 8M
Robot, Pendrive, PU, Joystick, Notepad, Lightpen, CCl, CPU, FW, MSPaint,
DVD , Trackball, CC, KTurtle, Bytes, Tuxpain

MEMORY MACHINES APPLICATION COMMANDS

VI. Answer the following questions. 10 M

1. How computers are useful in a school library?

2. What is an output device? Draw any two output devices the you know.

3. Name any 4 categories of stamps in Tux paint?

4. Write KTurtle command for the following polygons

5. How to create a new folder in Windows Explorer?
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SINDHI HIGH SCHOOL
SUMMATIVE ASSESSMENT-I
2015- 2016
SUB: ENGLISH

NAME MAX. MARKS: 90
CLASS :IVABC - TIME: 2 1/2 Hrs
Date: 6- 10-201¢ E . No.of printed sides:15

* - RoLk.No:

General Instructions

| This paper contains four sections:

; Section A - Reading- éﬂ Marks
|Section B - Writing -  25Marks
‘Section C - Grammar- 20Marks
Section D- Literature- 25Marks

All Sections are compulsory
Section A

I Read the pass'age given below and answer the
following questions :- (10 M)

One day a penniless fisherman caught an enormous fish. He felt
very happy. He could sell his fish for a large amount.

| Suddenly the fish spoke, “I am not a fish. I was changed into a
fish by a wicked magician. Please don’t kill me. I will grant
your wish.” ‘

%

“Let me ask my wife what she wishes for,” said the fisherman.
“Come back in the evening. I will wait for you,” said the fish.

'In the evening, the fisherman came back to the river.

“My wife wants to live in a cottage,” said the fisherman to the
fish.

When the fisherman went home, he saw that his hut was gone.
In its place stood a lovely cottage. But his wife was not happy.
“Just a cottage? You gave him his life. Ask him to give®as a
palace.”

i



2e fisherman went back and asked the fish for a palace. It was N
2d. There stood a magnificent marble palace in place of 3 F
i

1Y

3

2& prince into a fish?

did the fisherman’s wife wish for?




5. “You gave him his life. He should give you another wish.
Go!”What is the tone of the speakes?® Why?

B. Complete the sentences: (1*3=3M)
1. The fish wanted to grant a wish to the fisherman because he

2. The fisherman’s wife was not satisfied with the cottage

because

3. The fish turned the palace back to their hut because

C. Find the words in the passage which mean the
same: (1/2*4=2M)
1. beautiful =

2. evil =

3. poor =

4, cried =

II. Read the poem carefully:

See the Kitten on the Wall

See the kitten on the wall,

Sporting with the leaves that fall,
Withered leaves, one, two and three,
Falling from the elder-tree;

Through the calm and frosty air

Of the morning bright fair. ,

2



I .
he Ekitteni iz’ht;wur she starts,
aches, stretches paws and da:

a tiger-leap half way
h meei:'g"her coming prey,
go as fast as then ;
her i.fn_iver again.

he works with three and four,
ian magician; '
in the field of art | .
ays her part; ol
ousands there, b i
‘Tabby gare?

-

Circle ight answers! (1*5=5m)
1. Where en play?
i
ying with a
b. leaf ¢. Eree d. none
3. Wk with an Indian magician?
a. ; b. the wall c. a leaf d. a tiger
4. The leaw from:
a. the ee
b. the oak tree
c. a withered tree
a d. the elder tree
5 The magician is good at:
a. playing a part b. catching leaves
ctfield oF art d. working with three and four




III Read the passage below and answer the following

questions:
Giraffesl

Giraffes are tall animals. They live in Africa. Giraffes have long
necks and long legs. They have small horns on their heads.
They have many spots on their bodies. Most people do not
notice but giraffes have different patterns of spots. No two
giraffes have exactly the same kind of spots. Male giraffes grow
taller than female giraffes. They are nearly nineteen feet tall
and can live up to twenty-five years of age.

With their long necks, giraffes can reach leaves of tall trees to
eat. Giraffes have very good eyesight. Their large eyes are on
the sides of their heads. Giraffes see anything that moves,
They can see an animal a great distance away. It is very'
difficult to get close te a giraffe. Those who try usually get a
quick kick with powerful back leg. Giraffes look around a lot.
Even when they are chewing foed, they are checking to see if
danger is near. They .can run swiftly when other wild animals
chase them. By nature, giraffes are gentle. They do not attack
unless they are in danger. A giraffe will lower its head when it
is angry. It will open its nostrils and its, mouth. Then watch
out!

Choose the right answers to these questions: (1*5=5M])
1. Where can we find giraffes? :

a. in Australia

b. in Africa

c. in Antarctica’

d. in America

2. What is unusual about a giraffe’s spots?
a. Every giraffe has spots of a different pattern.
b. They look very pretty.
c. Every giraffe has spots of a different colour.
d. They are scary.

3. How can a giraffe spot an animal that is very far away?
a. It is tall and has good eyesight.
b. Its eyes are big. )
¢. It is tall and does not lie down.
d. It can hear well.



4. When does a giraffe lower its head as

nostrils? E
- a. when it is playful

b. when it is eating grass

r
en it is angry *

s the mégning of gentle?
~ b. calm c

Ir. m Singh, the
the clues given

(4M)

o
o daughters, two sons
= and disciplined
milk
JeaqssHe is

-"-_, ";'_'_'.k amd he (& tall. He lives ¥

in ﬁ:i .He has a family of (d)

: j has studied only till (e)

gentleman. .

omr street because (g)

- He is a very honest person as (h)

to the milk.




et

V Complete the passage with the words given: (6M])

| Rio, nations, continents, success, cash
athletes, Medals, television, rings,
held, - events, happy.

The Olympic Games are (a) every four years.

The bhest (b) in the wosld come together to take

part in the races and other (c} .These games help the

(d) to be friendly with one other. There are no (e}

prizes given at the Olympic games. The

winners get (f] of .gold, silver or bronze.

The 1936 Summer Olympics in Berlin were the first Games to

be broadcast on (g) though only te local

audiences. The Olympic Games has five {h) ' as its
symbols. The symbols represent the five (i) ~_.The next
Olympics will be held in )] . It is in Brazil and

Brazilians are very (k) about hosting the

event. It’s mascot will be a-It is sure to be a grand

(1) :

VI. Write an autobiography of a pen.” (6]M)

»




0

(5M)

-

stor _ ” 1 the help of the given pictures:

......




VIII Number these sentences in the correct order and
write them as a paragraph: (4M)

e We thought he had been stolen.

e Tipu is a young puppy. '

o But to our relief, he returned home the next day.
« He disappeared one day

e
i

SECTION c
IX Fill in the blanks b)f C,]qgag,; hg “‘Ehﬁ Hg}qt Word

(1/2*8=4M)

There was once a beautiful girl called Cinderella. a)

(She, Her, Our,My)father was a good man .But Cinderella had a

stepmother and three sisters who were very unkind. (b)

(their, I, we, they) made Cinderella do all the

housework. One day the king held a party for (c] (me,

his, I, they) son. Cinderella’s stepmother did not allow {d)

(our, her, his, their) to go to the party.



."?'1: E

When Cinderella was &i-one at home, a fairy godmother appeared.
i<} (It, She, Thefr, Ourjgave Cinderella 3 new dress and
= coach to go to the party. When the Prince saw Cinderella,(f)

(your , their, his, he) fell in lowe. Cinderella had to leave

&% midnight and she Ios{ one of her shoes. The king announced

Ehat the prince would marry the girl whe wore the shoes at the

(ke , it, their, we)

pasty. Al the girls tried the shoe but{g)

did mot fit any offh) .( them, they, we, him)

X Choose the correct answer from the options given:

(1/2*8=4M)
Santa [a) {is, has, had, will have] a smalil village in
Spain. Onee mpon a time, a kind old priest (b) ( lived,
live, will live, Iives) in that village. He [¢] ( has, is
having, bad, will have)a small house in the middle of a garden.
Children often {d)__ (will come, was coming, come,

came] to take frwits from his garden but he never (e)
(scolding, scolded, was scolded, will scold) them. One day, two
sparrows [f) ( build, was building,builds,built]their nest
in his leifer box. The priest (g)
opened, will epen) the box and saw them. He said, “Don’t worry. I 7/
() { will take, take, would take, will takes)take care of

{opens, opened, was

youn.

XI Complete the passage with suitable answer from the
options given below. (1/2%*8=4M)

How are you? Did the train arrive (a) ( of, for, on, at)

time? Is your office (b) ( near, with, for, on) your hotel?

We are all fine {c) ' ( there, onyhere, with). I wake up

early (d) ( on, by, in, at) the morning and buy milk (e)

10



(from, with, at, ofjthe milk booth .I eat my

breakfast (f) ( for, from, with, by) ﬁmther and leave
(gl ( for, with, at, ofjschool. Please don’t worry
(h) ( of, for, on, about] us.

XII Fill in the blanks with ‘a’, ‘an’ or ‘the: (1 /2%*8=41M)

It was (a) ___sunny day. I had my milk with (b}

spoon of sugar and ate (c) omelette. d) omelette

was very tasty. I went to (e} park near my house.

(£ lady was singing in the park and(g) child was

eating (h) orange.

XIII Rearrange the words to form meaningful

sentences: (1*4=4M)

1. in the class/make a noise/don’t

2. your name/of the page jat the top/with

3. on page 10/all the questions/do

4. to schdél/ your exercise book/tomorrow/bring




SECTION B

XMIV Read the following extracts and answer the following
guestions (3*3=9M)

i “Let me eat at your home and I’Il set ont with you.”
jaWho said the above words??
{i] Buntu (ii) the Ianc’;lord {iid) The farmers
I8 The speaker said the above words becamse:
{ijHe wanted free food.
|iiJThe food at home was very tasty.
i He was very hungry.
(c|The speaker was supposéd to accompany Rajul Shah to the:
|i) house (ii) estate (iii) market (iv) work.

2. “You know mow that beauty cannot be caged and gifts must be
freely given.™

{a) Who said the above words?

{i)} The comrtiers {ii) The Emperor  (iii) The nightiﬁgale
(b) Why did the speakerj say so?

{i) She wanted to make the fun of the Emperor.

|ii) She kmew that the Emperor had realised certain gifts

could be given by nature and could not be demanded.

(iil) She wanted the Emperor to know that she was better

than the mechanical bird.

{c) The speaker knew the value ;;>f:
(i) gold (iii) luxurious life {iii) natural gifts
3. He can whisk up an oak with the whirl of his nose:
With a wave of his trunk, and' a turn of his chin,
He can pull down a house,
Or pick up a pin.
a) Which animal is being talked about in the above stanza?
(i) camel (ii) horse (iii)jelephant

12



N

b) What feature of the animal is being described in the above
stanza?

(i) His strength - (ii) His bravery (iii) His loveable nature

(c) ‘Whisk’ in the above stanza means
{ijmove quickly ‘ &
(ii) a very weak movement
(iii) move lazily

XV Answer any 5 out of six guestions: (5*2=10 M)

1. How did Buntu make his living? Why was Buntu happy with
what he earned?

2. How did the Emperor become a changed man?

3. Why did the speaker open the door in the poem ‘Someone’?
What did the poet do when Be opened the door?

4. Why did The Thoee compiain to the Djinn? What action did
the Djinn =l )




e be? Why is the andience guiet?

{;
out of three: (3*2=6M)
ie think when she is on the stage? Why
oesn’t Sophic kb “, to struggle to remember the words?

14



2) Why did the Queen pay the bandit tem thousand gold coins
instead of five thousand coins?

3) Why did the Emperor order a mechanicél bird?

15



SUMMATIVE ASSESSMENT -1
HT LANGUAGE KANNADA

.CLASS : IV SEC -- C2Zoig-igT TIME:1.5 hrs
DATE: |- {0 -2,015 ; MARKS: 30
NAME : : ' ‘. ROLLNO:
No oF PRINTED SIDES™ &L
I. Complete the following : x8=4
1) e} £
2) § 1 3
3) g 3
II.  Choose the correct letter from the bgackets: hhxs5=24
) D Ag  (S.5.)
2 . (33,38.5)
) — 3 (p.g3.20) .
UL el O (8,8.8)
5) i —£OW (F.e.n)
" III.  Complete with correct kaagunitha: : _ hre=3
| D &e a0} )
2. @ @ AT &, »
IV.  Write number names for the following: 1hA4=2
oSl E - —
ST Rt S
V. Rebrrange the jumbled letters: 1X5=5
TLobh o=
2.8 8=
.08 3=
4 903 =
50008 @ =
VI. Write meaning in English: . hr5=2l
L & = :
2. mAD =
3. @ensh =
4. 28 =
5. 20 =

SHESEERI R e Rt S e LR



VII. Identify the pictures and write the words in Kannada: Ind=4

(3
viL, Do s Botected- £ ov-50 : %63
. & +9=
2. &+ = &3
B e ok SR ra!
4, &F + =
5. o3F + = ol
6 + B =
IX. TFind the odd one out: 142=2 .

) &9, 203, B8T3, B
2) N9, deend, TdwRY, 0%:

-

X. Make two words with the ending letter: Yhrd=2
. #he =

2. 338 =

S
by



SUMMATIVE ASSESSMENT — 1(2015-186)
SUBJECT : Ill LANG. HINDI

CLASS: Iv MAX. MARKS :30
NAME: ‘ TIME :

- DATE: _|- (D~ 2015 - No. of Sides; _ 4
ROLL No.: __ L3 —HHIND ;
I Ly & ugst ek o o iR
(Read the given passage and answer the following questions) Z

R Feer smar | Rfyar <z | 95 9 72 | 97 Raw o | e s | e Rw
1T | 9 fler war | g aaer @ | s T v | uw wier off | sier @ oarr
Aot o | ser wem wreft e or | ol st ot wwett o ot ) aeft uw ult o |
wlt & ol deft oft | Suhl BEt wews | we WE-lE e o 7 Ity W Mo

o= @Tg | '

= e o O S S T |
T e S NS et off |
TMERUH Tl o |
R 0 T S I e TE |



2. Wel gl 0 T TS~ (Circle the correct word)
1) &6, g, et |
2) diaett,  faafer feteedt |
3) &loE, oA, Team |
4) T, B, F |

3. {1 w5fe@- (Change the gender)

DR - 2) I
3)AH - 4) -
5)Us — W - ____

VT Xo__ WX

5. R T ¥ 3 SR o g -
(Draw an appropriate colourful picture for the given colours)

@y et - __ HleW - o

6.30F & A fIfaT. « (Write the parts of the body)

1) Ear - 2) Nose -
3) Neck - 4) Hand -
5) Hair - 6) Forehead -

98}



7.6 ST W HET S srefuul e R
(Add appropriate maatra to make a meaningftz«f amd)




9.RY M Tt & T o wEy

(Draw a colourful picture for the given words)

1) UreTeR 2) T
3) ITH 4) &Il
5) woe " 6) BT
10.Fmt & I foraet areg gof i

(Complete the following sentences)

2)

(=



